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; 100kN/mM%#BZ 5| 1.00 | 0.00 ~ 365 159.03 |3m&EBZB| 0.00 ~ 057|832 16.80 | 100kN/mM%E#BZ 5% | 1.00 | 10.77 ~ 3555 159.03 |3m&ERBAB| 2500 ~ 35.55 | 3.32 16.80
Zh st 1.00 | 365 ~ 1143 100.00 | TS | 067 ~ 1143 3.00 15.16 Zh st 1.00 | 5.00 ~ 1077 100.00 | =ns | 5,00 ~ 2500 | 3.00 15.16
2 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 3872| 160.29 |3mEBZB| 0.00 ~ 1.46|3.73 18.86 | 100kN/mM%E#BZ2 5 | 1.00 | 1056 ~ 4057 160.29 |3m%ERBZAB| 2500 ~ 40.57 | 3.73 18.86
zh st 1.00| 372 ~ 150 100.00 | TS | 146 ~ 1150 3.00 15.16 Fhs 1.00 | 5.00 ~ 1056 100.00 | =ns | 500 ~ 2500| 3.00 15.16
3 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 386 | 162.85 |3ImEBZB| 000 ~ 1.72| 594 19.91 | 100kN/mM%E#BZ 5 | 1.00 | 11.03 ~ 4267 162.85 |3m%ERBAB| 2500 ~ 4267 | 3.94 19.91
ZhnLst 1.00| 38 ~ 1164 100.00 | ThLS | 1.72 ~ 1164| 3.00 15.16 Fhs 1.00|5.00 ~ 11.03| 100.00 | =ns | 5,00 ~ 2500\ 3.00 15.16
4 100kN/mM%E#BZ 5| 1.00 | 0.00 ~ 3.88 165.27 |3m&EBZB| 0.00 ~ 153|878 19.13 | 100kN/mM%E#BZ 5 | 1.00 | 1063 ~ 4667 16327 |3mERBAB| 2500 ~ 4667 3.78 19.13
Zh st 1.00| 388 ~ 1167 100.00 | ThLS | 1.53 ~ 1167 3.00 15.16 Zh st 1.00 | 5.00 ~ 1063 100.00 | =ns | 500 ~ 2500\ 3.00 15.16
5 100kN/mM%#BZ5 | 1.00 | 0.00 ~ 381 162.07 |3m%E#BZB| 0.00 ~ 151|878 19.08 | 100kN/m%#B%25% | 1.00 | 1062 ~ 4311 162.07 |3mZEBAB| 2500 ~ 4311 3.78 19.08
Zh st 1.00| 381 ~ 1160 100.00| ThLS | 1.51 ~ 1160 3.00 15.16 zhs 1.00 | 5.00 ~ 1062 100.00 | FnLs | 500 ~ 2500| 3.00 15.16
e 100kN/M%Z#BZ 5| 1.00 | 0.00 ~ 366 | 159.20 |3mEBZB| 0.00 ~ 135|35.66 1848 | 100kN/mM%E#BZ 5 | 1.00 | 1053 ~ 4356 159.20 |3mERBZB| 2500 ~ 43.56 | 3.66 18.48
ZhnLst 1.00 | 366 ~ 1144 100.00 | TNhLS | 1.85 ~ 1144 3.00 15.16 zhs 1.00 | 5.00 ~ 1053 100.00 | =ns | 5,00 ~ 2500\ 3.00 15.16
. 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.73 58,95 | N | 000 ~ 0.00| 1.65 8.36 st 1.00 | 5.00 ~ 56.00 5895 | =S | 5,00 ~ 5.00 )| 1.65 8.36
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 6.04 75.68 | #hS | 000 ~ 000|177 8.93 ZzhLs 1.00 | 5.00 ~ 6.90 75.68 | EnS | 6,00 ~ 690|177 8.93
g 100kN/MZ#B% % — -~ = —|[3mEEZD| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 6.564 8240 | Lt | 000 ~ 0.00| 1.78 8.99 Zzh s 1.00 | 5.00 ~ 7.80 82.40 | =nst | 5.00 ~ 7.80|1.78 8.99
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ ZhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLLsh ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZThLLS ~ ZNLs ~ Zh LS ~ ZNLS ~




